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Rechizite si materiale permise: pix cu cerneald albastra, creion, rigld, radiera.

Instructiuni pentru candidat:

- Citeste cu atentie fiecare item si efectueaza operatiile solicitate.
Lucreaza independent.

Iti dorim mult succes!

Numele si prenumele evaluatorului: Punctaj total:




Annex

41 3
Vsphere = ?R

c'qrectangle =a-b



Nr. Item Score
1 Fill in the box with a number so that the statement becomes true. L
14 5
“If a=—-—4+18 andb=—-—,then2= 0
5 2 b 3
2. | On the picture, the isosceles triangle ABC is B L
represented, where [AB] = [BC], BD is an 0
altitude and m(«BAC) = 50°. Write in the 3
box the measure of the angle DBC.
m(«DBC) = °, a
A D C
3. | On the picture, the graph of the function L
f:R-R, f(x) =ax?+ bx +c, a#0, 0
is represented. 3
Using the picture, fill in the box so that the
statement becomes true.
,» T he number of zeros of the function f
is equal to
4 A mobile phone costs 2480 lei. Determine the amount saved when purchasing the L
" | phone with a 15% reduction. 0
Solution:
1
2
3
4

Answer:




.55

Calculate: > L
Solution: 0
1

2

3

4

Answer:

Let A4 be the set of real solutions of the equation 3x2 — 5x — 2 = 0. Determine L
the set A \ Z. 0
Solution: 1
2

3

4

Answer:
Let ABCD be a rectangle, where AB =6cm and B C L
5 .

AC = ZBC' Determine the area of the rectangle. 2
Solution: 5
A D 3

4

Answer:




During the holidays lon and Maria planted saplings. lon planted twice as many

8. saplings as Maria. 36 saplings were planted. Determine the number of saplings I6
planted by each of them. 1
Solution:

2

3

4

5
Answer:

9. | Determine the domain of the function f: D — R, f(x) =+v2 — 3x + 2. L

Solution: 0
1
2
3
4
5
Answer: D =
10 A metal sphere with the radius of 5 cm is melted into spheres with the radius of L
" | 5 mm. Determine the number of obtained after melting spheres. 0
Solution: 1
2
3
4

Answer:




Find all real values of x, for which the respective values of algebraic fractions

1. | L
x“+4x+3 5x-3
and are equal. 0
x+1 2 1
Solution: 2
3
4
5
6
Answer:
12. | Consider the function f:R =R, f(x) = ax + 3. Determine all real values of L
a, such that the point A(1,a? + 1) belongs to the graph of the function f and 0
the zero of the function f is a positive number. 1
Solution: 2
3
4
5

Answer:




